Strath Haven Middle School
Summer Math Packet
Students Entering 8" Grade
Enriched
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Dear Students and Parents,

When schools work together with families Yo support learning, children are
inclined to succeed in school, Three decades of research have shown that
parental participation in schooling does improve student learning!

Please encourage and help your child to work on this packet over the summer.
Attached is a pacing guideline to help with planning. Please refer to the page
numbers listed at the BOTTOM RIGHT hand side of the packet

The answer key is also located on our website, The completed packet should
be given to your son/daughter's math teacher on Friday September 18"

Dates What am I doing? Check if

Pages are
complete

Juhe 15™- June 18™ Page !

June 22" - June 25™ Page 2-3

June 29" - July 2™ Page 4-6

July 6™ - July 9t Page 7-8

July 13" - July 16™ Page 9-10

July 20™ - July 23 Page 11-12

July 27™ - July 30™ Page 13

August 3™ - August 7" | Page 14-15

August 10™ - August 14™ | Page 16

August 17" - August 21" | Page 17-18

August 24™ - August 28™ | Page 19-20




INTEGERS: All students should be able to add, subtract, multiply, and divide

integers, Calculators are not permitted.

3) -8+ 15
"

7) 13 - 19
—(r

11) -12x -7

B

15) =56+ 7

-3

4)0°8

4) =13+ (-3)+2
— 14

8) -14-16+4
U

12)-4x-3x-6
—T1

16) =100 -+ -5

A0

5) g

4091y

ORDER OF OPERATIONS: Simplify the following expressions using the order

1) -10 + (-10) 2) -6+ (-10)
/) —~ll
5)-3-6 6) -2 —(-9)
-~ 9
9) 4x-4 10) -15x -2
~—|b 0
13)-15+ -3 14)25+5
5 5
EXPONENTS
1) 3 2) §° )1
9 [AS l
of operations,
1) 7e4+2 2)2%08-10
| AL/
4) (5+3)* -4 5)36-5%+7
(O 1%
15-7
943
[ vy
) !

3) (5+4) o7
Ve,

6)4+6(5-2)=+3
9,




FRACTIONS: Solve the following problems with fractions. Calculators are not

permitted.
1)1—7()”115 _% 2) %—% = Zé; 3) 3%4-1% =15 512 +6§
6)Sé~2-2—“;i% 7)%><% = % s)ux-jl = 9 9)5—><10—

SIMPLIFYING EXPRESSIONS

1) 3x+2x+7x

IAX

4) 6y+5-y

5y+5

7) 6x+2+3x+4

QX+

3) 3+2x+4+2x

4K

2) 5x+2b+ 3x + 50
¥ +b
5) 8a+4-4a

A0+ 4

6) 15+4x—-17

THAX

9) 3(x+4)+2

x4

8 2n+12+3n-3

SNn+9

LE]

=k

“ ol

Gil—




EQUATIONS: Solve for x.

)x—8=24 2)x+4=38 3)x—16=-24
X= 20 X=24 X=-2
7)3x=39 8) 9x =117 9) —2x =-400
X=12 X=1D X= 00
5 ¥ E20
10)—3-_20 11) " 15 12) = 14
X= 00 X= (,0 x=10
13)8=-5r+ 18 14) 3x + 14=-1 16) -3x +1=-5
=2 X="5 X =7\
FRACTIONS, DECIMALS, PERCENTS
FRACTION DECIMAL PERCENT
1 _ .
g) 0.5 25 b
45%
A0 0.%S
3
0 0.% 200/
- 0.4 |
= 40’1
4 80%
= 0.4
0.5
% 501




The Distributive Property °

Simplify each expression.

1) 6(1 = 5m)
&= 20m
3) 3(4 +3r)

N=ls

'5) 4(8n+2)

AN+

7y —6(7k + 11)
~A -l
9) ~6(1 +11b)
PR VIV v
11) =3(1 +2v)

~A—pV

C13) (3-7k) -2

—(p + 1
15) (7 +19b) - —15

—105 g5

2) ~2(1 - 5v)

— 2 +10V

4y 3(6r+8)

[Br+ HH

6) —(-2 - n)

241
8) —3(7n + 1)
—AN-%

10) -10(a —5)

~—10A4-+50
12) —4(3x +2)
)X -E
14) —20(8x +20)
—{ 0O x40

16) (x+1)-14

|LhX < Lt




Combining Like Terms
Simplify each expression.

1) =6k + 7k

K

3N n-10+9m-3

0n=12.

5) —r—10r

—lr
7 1lr-12r
=
9) -8x—11x

19X

11) Sn+11n

llon

13) 127 +5+3r-5

Br

2) 12r-8-12

(A= 9‘0

4) —4x-10x

—eX

6y —2x+11+6x

XA

8) —v+12v

[V

10) 4p+2p
12) n+4-9-5n

—tn—5

14) =549 +6

N+




15) n—-4-9

N>

17) ~3x-9+ 15x

[ X =4

19) —16n - 14n

20N

21) —4+7(1-3m)

Y +7-AM

= 5-2Im

23) —2n—(9 — 10n)
—2n =9 +10n
= ¥n -9

25) 9a + 10(6a — 1)

9o+ ¢, 0a ﬂ@
= 9010

27) -10(1 - 9x) + 6(x — 10)
—0+A0X+ X~k 0
= X —="70

©29) —3(10 + 10) + 5(b +2)

= ~30p 50 +5b+(0

= T25b-%.0

16) 4n—n

AN

18) —9% + 8k

—HA

20) 15— 191

~ln

22) =51+ 3(6 +7n)
Sn+Igt AN
= [NnHE
24) 10 -5(92-9)
045N t45
= —USn+55
26) —9(6m - 3) + 6(1 + 4m)
—SUm + A1+ (ot HHMN
= =20M+ 2%

28) S(-2n +4)+2(n +3)

~ON+90+AN T b

PR

= “Bn+al

30) ~7(n+3)-8(1+8n)

~IN—U-F LA
= -In-29




o o

Two-Step Equations With Integers

Solve each equation,
1) —+4=5
10

=10

3) 3p-2=-29
p=1

k=10
2

k=4

5) -7

7) -9+ =7
4

N=g

‘5+A__

9) = ==-1
X =17

1) x+9=3

2

X="2
{

13) _42” =6

X=1l

2)£+5£3
2

4) 1-r=-5

M=

10) 4n-9=-9

N=




15) 2 187

p=t
17) 6+§=4

-

X

a-10
3

a—10 = —1Z
a=-72

19) -4

21) % —9=-8
16

W=
| b
=1k
23) 112;13 _ g
-1 = —ll

k+ 10 N

EAND = | O
K=-20

27) —14r—-19 =303 |
~hr=222
= —H,

25)

5

16) 9+’Z’=15
h%;@‘
n= "4

18) b+11 _

3
‘Jp%” = L
5=
20) 12 +4 =100
“12¢ =9
= ”—'%

-2

22) —7 +4r=-15

4r=—-
r==2

24) =5x+ 13 =-17
“EX=-530
X = b

pt3

26) =10
2

Pts=~20
pP=2g

28)_—x4—5=~8
X _ -5
4

X =12~




Multi-Step Equations
Solve each equation,

1) 6a+5Sa=-11

a=-|

3) 4x+6+4+3=17

X =2

Sy 6r—-1+6r=11

=

7) —10=-14v + 14v

ﬂOémwﬁﬁM

9) 42=8m+ 13m

WM ="A

11) 18=3(3x-6)

X=t

_____

2) —6n—2n=16

n=—"%

4) 0=-5n-2n

nN=0

6) r+11+8r=29

="

8) ~10p+9p=12

p=—17

10) a—2+3=-2

0= "3

12) 30 =-5(6n+6)

n= -4




13) 37 = -3+ 5(x +6)

T1==2+5X+ 20

10 =5X
- X=0

15) 4(-x+4)=12
—4X A+ =2
—4K =4

X =

17) -6(1 -59):54

— L4220V =S

2V = O

Y =0

19) 10(1 + 3b) =—20

\O+20b=—-0
0= —320
b:fL

21) 8(4k—4)=-5k- 32

22K=52= -5K-22

27K =0
=0

23) 8(1+5x)+5=13+5x | |
BHAox +5= 515X
DX 415 =12 +5X

25K = O
X =0

14) >-13 =5(1 + 4m) - 2m
12=5420M A
& =18
M= -
16) —2=—(n - 8)
—H =N+
—lb =N
Nn =10

18) 8:81/—4(v+8)

B=BY -~

40 = 4V
V=10

20) —5n—8(1 +7n) =-8
Bn-&-5n=-%¥
—plNn =0

Nn=0

22) —8(~8x~6)=—6x-22

AX+4F = X 22

70X =~70
X=—

24) =11 - 5a =6(5a +4)

~(—So= 200 + 24

— 25 =250
d = —|

l0




Write each phrase as an algebraic expression.

1.) 7lgss than m

M-

2.} The quotient of 3 and y

G VAR )
Y v

3,) 7 years younger than Jessica
J-1

J=lessicas age

4,) 3 times as many marbles as Bob has
b

b:“ﬁ* of nMarbs
Bob s

5, Let t =the number of tomatoes Tye planted last year.

This year she planted 3 times as many. Write an

algebralc expression to show how many tomatoes Tye

planted this year.

St

6.) Last week Jason sold x number of hot dogs atthe
football game. This week he sold twice as many as last
waek, and then he sold 10 more. Write an expression to
show how many hot dogs Jason sold this waek,

DX +\0




Evaluate the followlng expressions using the given values for a, b, end . Show each step!
1.) Evaluate 6+3b ifb=7 2) Evaluate 6a? fa=4
b+ 2T o™
e = L{4%)
- 21} (p(\ )

B

3.) Evaluate 5(8)-c ffc=7 4) Evaluato %' fh=2
Hlb)-C
= -3y
NS
g
5.) Evaluats lé’ﬂ ifm=2 8, Evaluate (%)3 ifn=9
/. ‘;f 2) _ i@f: P _ Bl
=] 5‘ 2] R

B

YA




Write an inequality for each of the following:

1) Five limes & number is greater than 25.

Ex 7225

2} The sum of @ number and 6 is at least 15.

X4l Z\G

3.) 24 divided by some number is less than 7.

2%47
X

4.) Five dollars less than two times Chris’ pay is at most
$124,

AX-5" £ 124

5.) In Ohio, you can get your license when you tum 16.

Wirite an inequality to show the age of all drivers in Ohlo,

X2\

6.) Suppose a DVD costs $19 and a CD costs $14. Write
an inequality to find how many CDs you can buy along with
one DVD if you have $65 to spend.

A+14-X = (G

13




Graphing Inequalities

Draw a graph for each inequality.

1) ng-5

ittt Bttt >

=7 <65 4-3-2-10 1234567

~

3) x<1

PR PR oy W !
Gmdm—p—t—t } ittt t
-7-6-5-4-3-2-1 01 2 3 45 67

5 n>5
VRS L ST o B
7 -6-5-4-3-2-1 01 2 3 45 6 7

7 k<2

=
™
w4
g
[y .
A

765 -4 3 221

9 x22

76543210 1 Iz 304 s 657

1) 25y d& VETA
4—4-#'__"&::,:::::::>
TB-54-3-2-1 01234567

2) n<s
Attt ———t— e
65 -4-3-2-10 123 45 67
4 r>2
f VR <5 | N
—7—6—5—4»«3-—2-—)01‘{345267
—7-—5-4-3-2—r1<3i53'51§65
8) m<-5
sttt — >
65 -4-3-2-10 1 23 4567

10) 5> v J%Pg/ V&S
%4-3—2-10 I ziiéé%'

12)x<'5
—t—t ittt

—7—6~5—4~3—2-10 .23 4 5 6 7

4




1,) Wiite an inequality for the graph.

-5-4-3-2-1 0123

X = -2

2,) Write an Inequality for the graph.

| S O I
1 It T

54 -3 -2

X=Z0

0123845

3.) Graph the inequality.

b z -

-0 :
S4-§-2-1 01238435

4.) Graph the inequality.

5,) Solve the inequality, then graph It on the nuntber line.

y+9 <13

y=t

S54-3-2-1 012345

8,) Solve the inequality, then graph it on the number line.

4x~6> 10

6t
5-4-3~2-1 012345

IS




1.) Name the ordered pair for each point graphed at the
right. Then identify the quadrant in which each point lies.

Goordinatas Quadrant ) 4_’:‘ T T
P AZ) B i
— : i
0 ed I
R (L2 L Deren
-4

s A2 &

2.) Find each of the points below on the coordiate plane.
Then identify the quadrant in which each point fies,

Coordinates Quadrant 7
AL L) I N NN
J}"Zw; T
J (25 I CHETE T
el — R I X
2 ..
B (2, 5) L RS
NE
AT

H(A2) I

3.) Graph and label each point on the coordinals plans.

Ay
N (3,4) EEAREND
r@*'4 »
0 (34 [ é’ T
R (0,0 &
S (50) i

4.) Graph and label each point on the coordinate plane.

' ANEEA
D (0,4 ; E
-
E (5,5 2
1
G (30) 5480 101 7346 0F
_Q}G’
Ho(62) ¥
J (0,2 A

[




1.) Wiite 15¢as a product of the same factor.

\Se 151515

2.) Write 27 as a product of the same factor.

Aehe B oo e

3.) Evaluate 73,

017 =124

g—_’/——_’

4 Evaluale 8¢

%.9.6.% = [4090)

5.) Wiite 9 +9+ 9+ 9 «9in éxponantial form.

&’5

6.) Writs 12+ 12 + 12in exponential form,

Vf)

17




1.) Evaluate: 132=

14

2,) Evaluate: «fé_l =

| 3) Evaluate: (-4)% =

—4. 4. -4
oy —

b4 = |-t4 ]

4) Evaluate: /100 =
|O

5,) Evaluate: (-2)*=

AP

6) Evaluate: 36

L

(3




- .__.aLLy

Parallel Lines and Transversals

_ Identify each pair of angles as corresponding, alternate interior, alternate exterior, or consecutive interior.

1) /y, 2) \ - W%iﬁ
/ 'I S \nfeenior
/(ww A's N ateext 4%
3) / | | v \y
/ {/orr zsl"s \ S N S
5) 6)

8)

9




9

%
7

S-S N £'s

Find the measure of each angle indicated.

v o/

[
/110

13) \
100°
%»X\
15)
r >> \ >
125°
N\
N\
17)
/

10)
—
y CONT &'
12)
- 84“7
/? %4’0
)
14)
N
“m ?\m
\
16)

Py

N '4T/

18y

~+r /? “61’
,, 118° '

20




